FATINH B W26, KG-38- (XI) wara Bram 12000 ™

' T BN IS A W& 3 " ' mw| B
- 3T aifties odlam =61 - 2015-16
- " - e - XI(TaRe)
WHY : 3, que ' quties : 50
Home .

(1) s W gor o ot ¥ | weles wo & o Wy & wne sifma
- (2) fa=nsdt 379 i Wou v W aitErda: oy

(3) fgomedt wo=-wsii H fieet W W gt

(4) Weier Uy 1 IR &Y T SeR-qitaet § 8§ frdy

1. st04 &1 31 9R 98 ¥ FTHI Teioh! VR 10 & |

Molecular wt. of H,S0, is 98. Its equivalent wt. calculate. 1
2R = e R ) ‘ s |
- What is Avogadro law? = - ' o |

3. mgmmuazgaﬁaaﬁ%wamsﬁaaﬁwﬁ:mﬁﬁa&l
Write the name and electronic configuration of element ‘which atomic no. 24 and 29. 1
4. Tt wen & o~ =t Sl § wmonewen o ol e s - -

Energy of electron in orbit is negative. Why? _ ' 1

5. snyi+er e fam fofEdn

Write modern periodic law. ; 2 \‘l/
6. ﬁ@mﬁﬁmﬁawi - - ‘
Define electronegativity. : ’ 1
-7, ISTE R R E '
' Define Surface Tension. : | 1

8. Ry g et ffaa)

, Write Ideal gas equation. 1
9. Yo 9 R wEd §7 | .=
What is dry ice. : ' - Ry
10. NH; ¥ TS THY W HHel a9 F[ 5 |
Calculate formal charge in NH! nitrogen atom. . . 1
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11. s SRS T g ¥ v i gaeEd

What is limiting Reagent. Explain with example. .
12. FoRel 8.3 fo e G sige i st 3§ wery wfm )
Establish relationship between temperature and average kmetic energy for gas. -2
/T Tgfem wifse—
Balance equation : A
.Mn0Q; 980, " > Ma* +3HSO7
WﬁMﬂEﬂaﬂﬁiﬂﬁmﬁm@— -
Calculate oxidation number of Mn atom in following compound : /2
(i) KMnO, (ii) MnO, (iii) K,MnO, (iv) Mn;0,
15, e SATeE 9o 99 A § TR W Sl |
Write differences in hydrolysis and h}rdration 2
16, () e i Ufem o1 o fafed |
Write formula of Plaster of Peris. . o 1+1=2

(i) WK AT & s9Er fafag)
Write uscs of hcavy water. :
17. €09 AR F GEA T 3Fa W FU | st
Write differences between structure of Diamond and Graphlt.,
18. fufemrm =1 sarewe wies wemd |
, Explain Silicon with example. _ . " 2
T 19. (1) wWEEd fEd wea T )
What is Isomerism? ] 1+1=2
(i) C.H,, 9 S ol Gilenis §Pid Gaagaidl & soaq 9 fafead |
Write structure formula. Probable isomers of CsH,,.
20. T T o A SE ¥ e ot weEd ) |
What is electrophillic and nucuobhillic. Explain with example. ’ 2
21. fe1 w e feomft ferat— ;
Write short notes following : . . 1%+1%4=3
() e[ T = AfEas @ faem
Uncertainty Principal of Higenberg.
(if) 7o 0 wF .
: Dual naturc of matter. - - wh
22. HRO L H— _
. Give reason : , 1V2+144=3

@) Baﬁm@ﬁ&ﬁmﬁﬁ% i ?
_ Tonisation enthalpy of B is less than Be. Whyo
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(i) IFe I =t fag Fomora = O} =i ?
- Electronegativily of Inert gases is zero. Why.
23. 71 =) gnagd—
Explain following : 1521/2=
() NayCO, R a9 T 7uTE |
| Temperature effect on Na,CO,.
(i) &R YUY o 7= B 6 | T 2
Alkali metal is strong reducing agent. Why
24. 99 % IUPAC Tm foflgu—
Write IUPAC name following : o 1+1+1=3

(i) CH,-CH,-CH,-COOH (i) CH,-C-CH -CH, -CH,
|
O CH,
(i) CH,-CH,-CN
25. (i) T Y I T HEE S |
What is Hybridisation. - 2+2=4
(ii) sp? WO I ISR Wied gHGEA | '
Explain with example sp® hybridisation.
OR
(i) BH, ﬁBmspzwmaaﬁ'ﬁNH r‘mmsﬁwﬁm%iaﬁr?
Hybridisation of B in BH, is sp? while in NH, it is sp> why.
(i) o dn o9 H FH T H|
- Write differences between ¢ and n bond.
26. (i) O 9 0; H ey Ffe MOT o7 5/ Sa=A | |
Calculate Bond order in O} and O; with MOT diagram. ' 242=4
(ii) PCLy ¥ TR it WHR 37 et Tl G Toghred | ‘
Explain type of hybridisation in PCl; molecule by molecular orbital diagram.
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